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KAAOTHPOY ANEZIA KQONZTA
AK806793 [ Oxi| Oxi| 1 8 2 7,04 60 500 O 0 0 60 0 0 281,60 | 420 | O 0 | Oxi| 1|Oxi| 1.261,60] 1
KAZANA AGOHNA AHMHTH
AB776352 | Oxi| Oxi| 1 1 7,08 60 0 0 0 0 30 0 0 283,20 | 420| O 0 | Oxi| 1[Ox 733,20f 2
XATZHIIANNH [IMHNEAOIH [IQANNH
AZ344836 | Oxi| Oxi| 1 6,41 55 0 0 0 0 0 0 0 256,40 | 385| O 0 [Oxi|1[Oxi 641,40 3
>OKOAHMOZ |ANAPEAX [NIKOAA
©229237 | Ox1| Oxif 1 6,84| 45 0 0 0 0 0 0 0 273,60 | 315 O 0 | Oxi| 1|[Ox 588,60 4
ANAZTAZIAAQOY|ANAZTAZIA |[EYZTAQ
AK120774 | Oxi| Oxi| 1 1 6,81] 36 0 0 0 0 30 0 0 272,40 | 252 | O 0 | Oxi| 1|[Ox 554,40 5
MAKPOIIANNH |AEZMOINA [IQANNH
Al528449 | Oxi|Oxi|f A | 12 7,23 8 800 [ O 0 0 0 0 0 289,20 | 56 0 0 | Oxi| A[Oxi| 1.14520| 6
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